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Section : General Intelligence

Q.1 Four words have been given, out of which three are alike in some manner and one is different. Select the odd one.
Ans  of 1. Amplify

< 2 Gun

< 3 Axe

/< 4. Microscope

Question ID : 8161612375
Status : Answered
Chosen Option : 1
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Q2 Select the correct mirror image of the given figure.
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Question ID : 8161612382
Status : Answered
Chosen Option : 1

Q3 IfO =20, LIT =46, how will PIG be coded using the same code language?

ans o137
< 2 53
X3 41
X 4 46

Question ID : 8161612368
Status : Answered
Chosen Option : 1
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Q.4 1Inasale, the price of sarees was T700 each whereas the price of sandals was T500 each. A lady spent a total of 3,800
on both the items. Find the number of sarees she bought.

Ans XL 1
K23
Vs 4
K42

Question ID : 8161612359
Status : Answered
Chosen Option: 3

Q.5 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. No butter is jam.

2. Banana is a butter.
Conclusions:

I. Banana is not a jam.

II. Banana may or may not be a jam.

Ans & 1. Neither conclusions I nor II follows.

/< 2. Only conclusion II follows.

v &) Only conclusion I follows.

/< 4. Both conclusions I and II follow.

Question ID : 8161612376
Status : Answered
Chosen Option : 3

Q.6 If ‘+' means “divided by’. * — " means *add’, *** means ‘minus’ and *+" means ‘multiplied by’, what will be the value of

the following expression?

{(12x8)— (2=3}+(3@-2]+2

Ans X112
<25
X33
v

Question ID : 8161612360
Status : Answered
Chosen Option : 4
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Q.7  Select the number-pair in which the two numbers are related in the same way as are the two numbers of the following
number-pair.

44 : 408

Ans  of 153 : 489
X 2 82:740
X3 77:715
K 4 61:549

Question ID : 8161612361
Status : Answered
Chosen Option : 2

Q.8 Four letter clusters have been given, out of which three are alike in some manner and one is different. Select the odd
one

Ans X 1. QTP
v 2 CGF
&< 3. MPL
< 4 DGC

Question ID : 8161612374
Status : Answered
Chosen Option : 2

Q.9 Inadice 1,2.3 and 4 dots are on the adjacent faces, in a clockwise order, and 5 and 6 dots at the top and bottom. When 1
dot is at the top, then what number of dots will be at the bottom?

Question ID : 8161612377
Status : Answered
Chosen Option : 1
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Q.10 study the given pattern carefully and select the number that can replace the question mark (?) in it.

6 4 100

7 5 144

9 ¥ 169

b {
N
W BN~

QuestionID : 8161612363
Status : Answered
Chosen Option : 3

Q.11 Select the option in which the given figure is embedded. (Rotation is not allowed)

ko

(@

X2

Ans

X 3

R,
[

Question ID : 8161612380
Status : Answered
Chosen Option : 4
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Q.12 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first

letter-cluster.

TALP: UXQO' : DUR : 2

Ans X 1. FSDR
/< 2. ESBQ
2 3. FQBP
4+ ERCQ

Question ID : 8161612369
Status : Answered
Chosen Option : 4

Q.13 Select the number that can replace the question mark (?) in the following series.

216,764,278
Ans X 1. 144

<2121

3 125

< 4 169

Question ID : 8161612364
Status : Answered
Chosen Option : 3

Q.14 Select the combination of letters that when sequentially placed from left to right in the gaps of the given letter series will

complete the series.

_k__mmk ikim ki i__mkk
Ans a1 kiikmkkik

X 2 iikimimmk

v 3. iiikmkkim

< 4. miikmkiim

Question ID : 8161612371
Status : Answered
Chosen Option : 4
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Q.15 Select the Venn diagram that best represents the relationship between the following classes.

Sisters, Mothers, Men.

Ans

Ko

@CO

Question ID : 8161612383
Status : Answered
Chosen Option : 4

Q.16 If Ais the mother of B, X is the father of Y, H is the brother of J. L is the brother of Y's father, B is the sister of L and J
is the husband of A, then how is T related to Y?

Ans ' 1. Paternal grandfather
/< 2. Nephew
/< 3. Son-in-law
< 4 Son

Question ID : 8161612372
Status : Answered
Chosen Option : 1

Q.17 Select the word-pair in which the two words are related in the same way as are the two words in the following word-

pair.

Temple: Church

Ans 1. Hotel : Office
o 2 College : University
7% 3. College : Theatre
75 4. University : Student

Question ID : 8161612370
Status : Answered
Chosen Option : 2
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Ans

1. Deci
2. Mili
3.Kilo
4. Hecto
5. Centi

6. Deca

P
X 2
L &3
X 4

5.1.56: 4.9
5.5 ;2%
5.5 9.6, 4.9
12,6 544

Q.18 Select the correct alternative to indicate the arrangement of the following words in a logical and meaningful order.

Question ID : 8161612366
Status : Marked For Review
Chosen Option : 3

Ans

following figures. How would this paper look when unfolded?

Q.19 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
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Question ID : 8161612381
Status : Marked For Review
Chosen Option : 1
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Q.20 Ina certain code language, if BURMUD' is written as RKHCKT', then how will 'ANGLE' be written as in that
language?

Ans X' 1. REXCV
# 2. HOPLY
< 3. PCVAT
v 4 QDWBU

Question ID : 8161612367
Status : Answered
Chosen Option : 4

Q21 How many squares are there in the following figure?

Ans  of 1 27
<2 28
<3 26

X
~
1o
L

Question ID : 8161612379
Status : Marked For Review
Chosen Option: 3

Q.22 If'+ means +:'<' means'-'; '+ means -' and - means x'. Then what will be the value of the following expression?

18+3-5x6+4

Ans K 1155
<2 30
Vs 32
X 4 135

Question ID : 8161612362
Status : Answered
Chosen Option : 3
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Ans

K 113-16
X2 32-45
X 1215
v 2 16 - 30

Q.23 Four number pairs have been given, out of which three are alike in some manner and one is different. Select the one that
is different.

Question ID :

Status :

Chosen Option :

8161612365

Not Attempted and
Marked For Review

Ans

Paper : Pulp
#< 1. Pear : Fruit
v 2 Linen : Flax
#< 3. Fan : Blade
#< 4 Road : Latex

Q.24 select the word-pair in which the two words are related in the same way as are the words in the following word-pair.

Question ID :

Status:

Chosen Option :

8161612373

Not Attempted and
Marked For Review

Ans
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Q25 gelect the figure that will come next in the following figure series.

L)1
L |

Question ID : 8161612378
Status : Answered

Chosen Option: 1
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